 Exercise 3: Horizontal Alignment, Reversed Curves

You had to take over a project that was already in the works.  The last thing to design on this project is a temporary bypass.  This is the information you have available: 

Route 52 is a Rural Minor Arterial with an ADT=1500

There must be at least 20 ft between the EOP of the main line and the EOP of the temporary bypass.

The reverse curve on each end of the bypass needs to be 500 ft in length

Lane width for both the bypass and the mainline is 12ft

A) Design a reverse curve that can be used at either end of the bypass.  Remember that reverse curves are used for temporary conditions only.  Use the concepts learned in class.

Find the , R, and L for this reverse curve.

B) If the first PC station on the bypass starts at 20+00, what are the stations for the PRC and PT of the first reverse curve you designed?

